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MATHEMATICS AND COMPUTER SCIENCE
PART - 1
Each question carries ONE mark. ‘ (50 x 1 =50)

The minimum number of tcmporary vanables needed to swap the contents of two
variables is

A) 1 - B) 2
© 3 ' (D)— 0

. Ifan int datatype needs 2 bytes of storage then the maximum value it can hold is
(A) 216 _1 (B) 215 _ 1

(C) 216 - ' (D) 215

What does the term SCSI stands for ?
(A) Small Computer Software Interface
(B) Small Computer Storage Interface
(C) Small Computer System Interface
D) S.mal_l Computer Standard Interface

How many times will the following loop be executed if the mput data item is 01234 ?
While (¢ = getchar( )! = 0){ } ,
(A) Infinitely : (B) Never

(C) Once | (D) 5 times
Space For Rough Work



What kind of line is given by the equation 3x +5=07

(A) Line parallel to y-axis
(B) Line parallel to x-axis
(C) Oblique line intersecting both x and y axes

(D) None of thése
The distance between the points (8, -3, 8) and (6, -1, 9) is
(A) 4 . @) 3

© -1 ®) 10

The direction cosines of a line joining the points (4, 3, -5) and (-2, 1, -8) are

A4

| 62 -3 623
(A) (7’7’7) - (B) (7 ’7)
(O (g, %, %—) . (D) None of thgse

Sp#ceFofRoughWork
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8. A numerical method to solve algebraic and transcendental equation is
(A) Runge-Kutta method )
(B) Newton-Raphson method
(C) Euler’s method

(D) Milne’s predictor corrector method

9. LetF(x)=|x|, then
(A) F'(0)=0 (B) F(x)is maximum at x = 0

(CO) F(x)is minimum atx =0 (D) None of these
10. The maximum slope of the curve —x> + 6x% + 2x + 1 is
(A) 16 o B) 14

© 19 - (D -13

11. The equation of the directrix of the parabola y2 + 4y + 4x + 2 =0 s

1 -

&) x=3 ® y=%
-1

© x=3 ©® y=%
SpnbeForRm:ghWork



12. Ify=asinx+bcosux, then

d d
(A) d_izx—y=.0 (B) I;x+y=0
(©) g—;x+ %+ y=0 (D) None of these

13. Angle between the radius vector and the tangent to the curve r = F(0) in its usual form is

» do de

(A) tan¢="g- B) coto=ry

' dée ' do

(© cotd=—g @) tand=rg
14. If u(x, y) is homogeneous function of ord& n, then

(A) xux—yuy=n2u (B) xux+y;y=nu

©) xu + yu, = (ﬁ + 1)u (D) None of these

15. fe”*bdxisequalto

‘ ax+b
(A) e¥+bic : ® Tg+c
ax+b
(C) —5+c D) a-e*tbic

.Space For Rough Work
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16.

17.

Solution of differential equation % . f‘ is
A) P-y*=c B P+y’=c
©) F*+y*=c D) x*-y’=c

The differential equation y % + x = a (a being constant) represents :

(A) Set of circles with centres in x-axis
(B) Set of circles with centres in y-axis
(C) Family of parabolas

(D) Family of ellipses

di

18. Ldt"'RH' Jidt:Esinwtcanalsobewrittenas

(A) L::;-le%l{-!--—Ewsmwt

d4 i di
(B) Ldt2+R1+EaE_EWCOSWt
© Lg:;+Rddi+*—Ecoswt

i di
o) Ldt2+Rdt+“—Ewcoswt

Space For Rough Work
7

A4



19,

21.

-

A) :]:F(s)ds ® [Hg
0 ’ S
© }F(s)ds | ©) }E%lm

If in a frequency distribution, the mean and median are 21 and 22 réspectively, then the
mode is approximately

(A)y 205 - ®B) 22

© 24 ©) 255

If A = {1, 2, 3}, then which of the following is reflexive ?

A) {4,1D,1,2),1,3)}
B) {(1,L1),2,2),(2,3)3,3)}
© {(,1),(2,2)}

D) {3,3)}

A4
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22, If A and B are any tWo sets, then A — B equals

(A) ANBC
B) ACAB
(C) AUB

(D) AmB

'23. Inthe group G = {0, 1, 2, 3, 4} under addition modulo 5, the value of G+ 27'1)'1_ is .
@A) 1 ®) 2

©3 . o 4

24,  'Which one of the following is true ?

(A) Ifa*b=abthen* isa binary operation over set of natural numbers but not over the
set of rational numbers.

(B) IfR isaring with unity then R is a multiplicative group.
(C) Union of two subgroups is agaiil a subgroup.

(D) Every group has atleast one non-trivial subgroup.

Space For Rough Werk




25. 124324524 uptontertns_='

A) g@+1)6(2nf1)

23(n + 1)2
(B) __(T_L

2n(n + 1)(211 + 1)

© 3 +n-2n(n+ 1)

2nn+1'2n+1) - nm-1)
) 2arlntl e
4
26. The sequence <1 +'3;>

(A) Converges to zero (B) Converges to one

(C) Convergesto7/3 - (D) Diverges

21, If P, Py, Ps,....... P, are probabilities of happening of n independent events, then the
probability of happenilig of atleast one event is

(A) PP, P o ®B) 1-PPP;,.. P,
© 1-PPP,. P (D) PP,P,.P,
-SpaceForRoughWork'
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28.

Negationof “2 +3=5and 4 <6 is
(A) 2+3+5and4<6
(B) 2+3=5and4<£ 6
(C) 2+3#50r446

(D) None of these

29. The value of r for which 15 = lSC2r 18
A 2 B) 4
€ 6 ®) -9
30. The binary system uses powers of
(A) 2 _ | - B) 10
© & o
31. A computer program that converts assembly language to maéhine language is
(A) Compiler (B) Interpreter
(C) Assembler (D) Comparator
Space Zor Rough Work
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32.

33.

The section of the CPU that selects, interprets and sees to the execution of program
instructions '

(A) Memory (B) Register unit

- (C) Control unit (D) ALU

Which output device is used for translating information from a computer into pictorial

form on paper ?
(A) Mouse . (B) Plotter

(C) Touch panel (D) Card punch

The list of coded instructions is called -
(A) Computer program - - (B) Algorithm

(C) Pseudo code | (D) Flow chart

35. Which part of the computer is used for calculating and comparing ?
(A) Disk unit (B) Control unit
(C) ALU (D) Modem
| Space For Rough Work
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36. The return statement will always return type of data, by default.
(A) float (B) int

(C) char @) double

37.  Another name for one dimensional array is
(A) One dimensional list
(B) Single subscrip;ed variable
(C) One list variable

(D) All of the above

38. One nibble is equal to byte.
(A) one (B) two
(C) half - (D) quarter

39, Which bitwise operator is suitable for turning off a particular bit in a number 7

'(A) && operator (B) & operator
(C) || operator (D) ! operator
Space For Rough Work
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41.

42.

The keyword used to transfer control from a function back to the calling function is
(A) switch (B) goback

(C) goto (D) return

Which header file should be included to use functions like malloc( ) and calloc( ) 7
(A) memory.h - (B) stdlib.h

(C) string.h (D) dos.h

In mathematics and computer programming, which is the correct order of mathematical

operators ?

(A) Addition, Subtraction, Multiplication, Division
(B) Division, Multiplication, Addition, Subtraction
© Mﬁltiplication, Addition, Division, Subtraction

(D) Addition, Division, Modulus, Subtraction

Which of the following is not logical operator ?
(A) & B) &&

< | ®) !

A4
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44. Which of the following is the correct order of evaluation for the below expression ?
z=x+y*z/4%2-1
(A) */%+-—= : .(B) =%/G% 4+ —

©C) /1*%—+= : D *%/-+=

45. What is the correct value to return to the operating system upon the successful completion
of a program ? : '

(A) -1
®B 1
< o

(D) Programs do not return a value.

46. Why does internet expldrer back button somcﬁrﬁes not work ?
(A) Anew window was opened
(B) A-web page autoﬁlaﬁca]ly forwarded to an alternate page
(C) Other scripts prevent you from going Sack |

(D) All of the above .

Space For Rough Work
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47,

49,

Which one of the following controls and coordinates all functionalities ?

(A) CU - (B) ALU
(C) MU o ' (D) All the above
Plotter is a/an

(A) Input device
(B) Output device
(C) Performs both /O operations -

(D) None of the above

" Which one of the following is suited for data analysis 7

(A) DBMS ' (B) Word processing software

(C) Spreadsheet software - (D) Adobe Photoshop

50, Set of programs that reads a program written in high level language and translates it into
an equlvalent program in machine language is called W
(A) Interpreter | (B) Object software
(C) Compiler (D) Both (A) and (C)
Space For Bough Work
A4 16.



51.

52,

53.

PART -2
Each question carries two marks, _ (25x2=50)

The operator exclusively used with pointer to structure is
(A) dot _ ‘ B -

©) I[1 | D =

Which one will print the number of elements in an array, given the declaration int a[10} ?
(A) sizeof(a)/ sizeof(int) (B) sizeof(a)

(C) sizeof(a[0]) / sizeof(a) (D) sizeof(int) / sizeof(a)

Given the declaration int x[S][S][Zj; the element x[h][i][i]’may be accessed as
(A) *(*(xthl+)+j) : B) *(*(*(x+h)y+iH)

(C) Both (A) and (B) (D) None of them

What is the value of a after execution of the express'ion' a=b-=c*=5,givenb =110
andc=207

(A) 450 . ®) 10
© 110 @) -10
Space For Rough Work
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55. Angle between x -2y +z=0and x + 2y — 2z = 0'is

(A) éés‘l (%g) (B) sin‘“l( 8 )

3l

8l

(©) cos (WIOEJ D) Sm—ul( 1 J

lim &—€%—-2x

S6. 0 x—sinx

is equal to
@ -2 ®) 4

© 2 Do) -4

57. Ify=e%""'% then
A) (Q-xD)y,~xy;-y=0
®) (1 —x25y2 +xy,+y=0
© A-Py,+y=0

(D) None of these

Space For Rough Work
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58.

If z = e+ 3 F(2x — 3y), then

dz 0z 9z .9z
(C) 3%% +2 %;' =12 (D) None of these
4
59, The value of the integral J sin™4 x dx is equal to
—w/A
8 8
(A) 3 B -3
3
© 3 (D) None of these
60. The differential equation of all circles passing through the origin and having their centers
on the x-axis is ' : ~
R=yeiyZ 2o 242y
(A) =y + 3XY 4x B) y*=x"+2xygy :
0 Peyexyd | 22y W |
€ x*=y"+x¥ 4 (D) y*=x"-2xy G4,
61. The solution of the differential equation xdy = ydx + y2 dy subject to y(1) = 1 is
A) x+y*=2y ®) x+x=2y
€©) y+x=2 - (D) None of these
Space For Rough Work
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62.

Li{(cos 4t + 3 sin 4t)e ] =
@A) —5= 15 s2+15
s2—68-25 . (B) $2 + 65 - 25
s+ 15 '
© 2+ 65425 (D) None of these

fU=(1,2,3,4,5,6),A=(2,4,6), B={1,2,3, 4}, then (A ~ B x (A°  B) =
(A) ¢ _ B {6,1),(5,2), (6, 3), (6, 4)}

© {61,663} D) ({(1,6),3,6)}

Which one of the following is true ?
(A) The set G = {( 8 g ) I a is a non-zero real number} is an infinite non-abelian
group under multiplication. |

X X

x x) Ixe r&x;eO} under

(B) The identity element of the growp M = {(
(10 |
multiplication 1s( 0 1),
(C) Every group of order three is abelian.

(D) (N, +) is a group. -

A4
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Eﬁtan&) is

6S.
(A) Convergent series : : (B) Divergent series
© Oséillatory series e (D) . None of these
66. A bag contains 6 white and 8 red baﬂs, then the probability of drawing two balls of same
colour is .
43 : 15
(A) 971 ®B) 91
28 - 15
© 9 D) 78
67. Ifp, q, r are simple propositions, then (p A Q) A (Q A 1) is true, then
(A) p, q,r are all false. (B) p,q,r are all true.
(C) p,qaretrue and r is false. (D) pistrueandqandrare false.
68. A variable declarpd inside a function by default assumes storage class.
(A) extern . ~ (B) static
(C) register (D) auto
Space For Rough Work
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71.

72.

69.

An array subscript may be _

(A) Integer Constant  (B) Integer Variable

(©) Integer Expression o (D) Allof these

The default return data type in function definition is

(A) void | (B) int

(C) float " , | (D) char

How does compiler differentiate address of operator from bitwise AND operator ?
(A) By using the nu;alber of operands and positioﬁ of operands

(B) By seeing the declarations -

(C) Both option (A) and B)

(D) By using the value of the operand

Identify the invalid identifier in C.
(A) NET_$ | (B) BINGO

(C) _ACCOUNT | SO 432

A4
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- 73. x%y is equal to

74.

75.

(A) (x-(x/y)) B) x-&xMN*Y)

© G-&M) : D) -G&MMN*y)

What is the output of the following statement ?
printf(“%u”, —1);

(A -1

(B) minimum ipt value

(C) maximum int value

(D) error

In the declaration double (*p) () ;

(A) pis a pointer to an array.

(B) pis a pointer to a function.

(C) p is a function returning pointer.

(D) p is an array of pointers.

Space For Rough Work
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